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1 KB (°C) EY
s 3 T 3 4 BiEIFHZ& (H26.8.13)
mEs | mRIs | Bow | ar | #3540 |[FERRLesawn| L. | BEEOE| TS
el RSFON| g e
N
Om 28.3 279 278 27.7 27.7 279 27.4 05 27.4
2m 273 27.4 273 273 276 273 27.0 0.4 273
5m 27.0 27.0 27.0 26.8 27.1 26.9 26.6 0.4 27.0
10m 26.8 26.8 26.7 26.7 26.7 26.7 26.4 0.3 -
B-1m 25.7 25.3 25.7 26.4 26.1 258 26.0 A 03 26.9
=2 55
et im AIIE] 2 (H26.8.13)
mzs | zRIs | Bow | ar | #3540 |[FERRLesawn| L. | BEEOE| tSE
4 il P
oE—
Om 30.7 316 31.4 316 274 313 258 56 279
2m 32.2 32.2 32.3 32.2 315 322 30.7 15 31.1
5m 32.7 328 328 328 324 328 326 0.1 324
10m 33.0 33.0 33.0 33.0 33.0 33.0 32.9 0.1 -
B-1m 33.4 33.4 33.3 332 33.2 33.3 33.2 0.1 32.7
=3 BEEBFEE (mg/
et im AIIE] 2 (H26.8.13)
AEiwm | war( | Bor | ax | #50 [PREERleswen] o JoEC0E] T
Om 78 72 73 6.8 8.9 73 79 A 06 8.1
2m 6.2 6.0 6.0 6.0 7.1 6.1 6.3 A 03 6.4
5m 5.6 5.9 5.7 5.9 6.1 5.8 5.8 0.0 55
10m 6.3 6.0 5.7 6.2 5.7 6.0 6.1 A 00 -
B-1m 6.3 6.2 6.2 6.3 6.3 62 6.3 A 00 5.4
—_ XEHEIAL-EDE-BE-ASIDEHIE
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WA | BRTS | BoE | @ | #A55 [FREEE Ggm
IKE 17.6 25.0 18.4 15.4 16.3 8.7
FEHRE 4.1 5.5 3.7 5.1 3.0 2.3
BBl B 25 2.2 5.3 2.6 2.3 2.1
#&5 TS5 Hb2 (cells/ml)
AL=T- | D vbRT [2UFRIE- B
SXERM = LIS AR
Om 0 0 0 7,700
ERIA 2m 0 0 1 4,700
5m 0 0 0 100
Om 0 0 0 6,000
EDE 2m 0 0 0 2,000
5m 1 0 0 600
Om 0 0 2 22,500
Bk 2m 0 0 2 1,900
5m 0 0 0 700
Om 0 0 0 9,000
H39 2m 1 0 0 3,200
5m 1 0 0 1,700
ottt Om 0 0 2 35,200
HRRR 2m 0 0 0 4,900
=L
5m 0 0 1 600
Om 0 0 11 16,100
Liek: 1:L] 2m 0 0 1 18,900
5m 0 0 1 700




